1.Why did Harvey let Lawrence take the car?

Episode 03 - Season 01

2. Why doesn't Harvey want Stensland as the CEO of the company?

3. Why is Jenny mad at Mike?

4. What is the deal Harvey must close with McKernon Motors?

Match the columns according to the meaning of the words:

1.tightwad
2. asset

3. foodie
4. rat out

5. billables

(

) payment; honorariums

) a person interested in food
) expose

) a cheap person

) qualities
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Episode 03 - Season 01
Answer key

1.Why did Harvey let Lawrence take the car?
Because he wants to have laverege over Lawrance for when he needs anything from him.

2. Why doesn't Harvey want Stensland as the CEO of the company?
Because Stensland has plans to sell the company, which will cost great loss to the firm.

3. Why is Jenny mad at Mike?

Because Mike knew her boyfriend was selling drugs and never told her.

4. What is the deal Harvey must close with McKernon Motors?
He needs to make sure that the new CEO will keep the contract to the firm.

Match the columns according to the meaning of the words:

1.tightwad
2. asset

3. foodie
4. rat out

5. billables

( 5 ) payment; honorariums

( 3 ) apersoninterested in food
( 4 ) expose

( 1 ) acheap person

( 2 ) qualities
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